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e . cratlon, the initial velocity, and the initial height if the height at selgg,fge
is

75 feet, the height at 2.5 seconds is 75 feet, and the height at 4 Seconds is 3 fogy
€,

Solve each system of equations.

8.x+2y +32 -5 S x + byl tiziaad 10! x -3z=7
3x + 2y~ 2z.= —13 =Xk 3V il a6 2oty — 22 = 1
X +3y—-z=—11 i O = 18 =5 S iy R X D
1137 bu+iz:59 12 8% z= 4 13.4x— 3y + 2z = 12
X Sy y+z=35 5 B
I+ By 3z =15 Hoe - —agh —2x =2 + 2x =8
14. 36x — 15y + 50z = =10 15. —x — 3y + z = 54 16 18x~z =07
2x + 25y = 40 4x + 2y — 3z = —32 12y + 2 = —0.7
54x — 5y + 30z = —160 2y + 8z =178 Eoe 3y =5
17. 1f possible, find the solutionof y = x + 2z,z = —1 — 2x,and x = y — 14.
2 5 3 1 1
18. What is the solution of%x—§y+€z= —8,1x+§y——3—z= —12, and
T36—x — -85— = —I%Z = —25? If there is no solution, write impossible.

Systems of Linear Equations and Inequalities



